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This question paper consists of fen questions. All the questions have to be

answered. There 1s no internal choice in question no. 1. The remaining questions

carry internal choice.
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The total number of marks of the question paper is 300 and the time allotted

1s 3 hours. Marks for each question have been indicated on the right hand

margin.
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The first question will be of short answer type consisting of 20 compulsory

questions, each one is to be answered in one or two lines.
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Wherever word limit has been given, it must be adhered to.

5. UTT Wi Y[EA TE & & Wesal W fav e fear Smam g

Special attention will be paid to the accuracy of the language and neatness

of the work.
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Questions should be answered exactly in order in which they appear in

the question paper. Answers to the various parts of the same question should

be written together compulsorily and no answer of other questions should

be 1nserted between them.
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(C)  afg—Taifq

D) TUH—Td

(E) gUy—«dr |
() T-fafea vssi & agwd ®9 fafem . HX2=10
(A) YA
(B) qyferd
(C) HY=F
D) g
(E) ®eh |
8.  (¥) fm=fafed maw &1 feet 4 sqaw wifvu . 90

The thought, philosophy and message of Gandhi are verv much
relevant today. We must say they alone constitute the only positive

factor which can save the modern civihization which is heading for a
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disaster. Permanent values of service before self, sacrifice before
noarding and concern for others are fast dwindling and their place is
- being taken by sclfishness. greed, opportunism, deceit and falsehood.
All this has given birth to conflicts and confrontations and has led to
the erosion of the noble standards of folerance and fellow-feeling. To
complete this grim picture has come the impending race for armaments.

Destructive weapons of war menace the very existence of mankind.
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10+10+20+20=60
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